GUIDED NOTES.- Completing the Square

Completing the square: the pracess of making a quadratic factorable,
Sometimes a quadratic does not factor, We can make it “factorable” by the process of completing the
Square. Because we are solving, the equation should be set equal to_i

Andure s

IMPORTANT: When the quadratic you are solving has an ‘a® term (the squared term) cocefficient not equal
to___ it makes things a little more difficult. Do this extra step

Step 2 - The coefficient of the squared term must be divided out so that it is equal to one. You cag_rm‘r work
se (oe0icocit, can y «f docon.

with an a value that is greater than one, 70 "ot )

Step 6- Multiply the right side of Step 5 by the coefficient

: to be able to solve quadratic equations by completing the square. /

you took out in Step 2

- We should also always check to

see if a problem is easily factorable first, to make sure completing the squarc is truly necessary. EXAMPLES:
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FoIve each equation by completing the square.
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